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1. This Booklet contains three tests as follows :

Test I - English Language Q.Nos. 1-30
Test II - Quantitative Aptitude Q.Nos. 31-65
Test III- Reasoning Q.Nos. 66-100

2. You will be given an aggregate time of 1:00 hour to answer
all the three tests. The tests are not separately timed.
You may distribute the time as you please but remember
that to qualify in the written test as a whole you have to
qualify on each of the three tests separately.

3. Tests of Reasoning and Quantitative Aptitude are printed
in both Hindi and English. The Hindi version is printed
on the left hand side page and the English version on
the right hand side page.

4. There will be penalty for wrong answers marked by you.
For each question for which a wrong answer has been
given by you, one-fourth or 0.25 of the marks assigned
to that question will be deducted as penalty.

5. Rough work, if you want to do any, is to be done in this
booklet itself and not on the answersheet. For this
purpose use the empty space in the margin or anywhere
else you find in this booklet. Do not use any other paper.

6. Indicate your answers on the separate answersheet
(given at the end of the booklet), using HB Pencil. Follow
the instructions given on the answersheet for indicating
your answers.

7.  Your answersheet contains answer-spaces for answering
100 questions. Use 100 answer spaces for answering the
100 questions given in this booklet.

8. Do not open the booklet until you are told to do so.
When the instruction for opening the booklet is given,
do not try to remove the wire staples at the left. Insert
the blunt end of your pencil under the sticker and tear it
to open the booklet.

9. Immediately after opening the booklet, verify that all the
pages containing questions from 1 to 100 are properly
printed in your booklet and then begin answering the
test. In case the booklet is defective get it replaced by
another test booklet.
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Test 1
English Language

Directions (Q. 1-5): Which of the phrases given against the sentence should replace the word/phrase given in bold in the

sentence to make it grammatically correct? If the sentence is correct as it is given and no correction is required, mark 'No
correction required’ as the answer.

L.

With a vast geographic spread and a huge population, anything that works in India, will surely work anywhere.
1) nowhere else 2) anywhere else 3) anyhow
4) somewhere 5) No correction required

Were me a bird, I would fly to her.

1) Was me 2) Was 1 3) Were 1
4) Would 1 5) No correction required

Heis afraid to me.

1) for 2)of 3) from
4) with 5) No correction required

This lack ofa clear strategy have spooked rightly investors.

1) have been rightly spooked 2) has been rightly spooked 3) has rightly spooked
4) have rightly spooked 5) No correction required

Using mobile phones for banking operations would cut cost by branchless banking.

1) will be cutting cost 2) are cut costs 3) will be cost cutting
4) will cut costs 5) No correction required

Directions (Q. 6-10): Read each sentence to find out whether there is any grammatical mistake/error init. The error,

if any, will be in one part of the sentence. The number of that part is the answer. If there is 'No error' the answer is 5). (Ignore
errors of punctuation, if any)

6.
7.

10.

The ruling came 1) / after the court acquitted, 2)/ a man who was accused continually 3)/beating a child. 4)/ No error 5)

The app includes 1)/ contact numbers of the drivers, 2)/ registration number of the vehicle 3)/ and details of every
member of the committee. 4) / No error 5)

Atrocities committed 1)/ in places like Ballia, 2)/ which joined the Quit India movement of 1942, 3)/ is still not fully
documented. 4)/ No error 5)

This move helped countries1)/ become more productive for themselves 2)/ and in a better position to feed 3)/ their own
people. 4)/ No error 5)

The most visible face against AFSPA (Armed Focus Speical Powers Act)1)/ in India must surely be that of from Sharmila, 2)/
who has been on a fast against the law, 3)/ from 2000 in Manipur. 4)/No error 5)

Directions (Q. 11-15): Rearrange the following five sentences (A), (B), (C), (D) and (E) in the proper sequence to form

a meaningful paragraph and then answer the questions given below.

11.

(A) The aims of the yoga enthusiasts are extremely varied.

(B) Others by the increased fitness and flexibility that it results in.

(©) Some people find solutions to suffering from varied Health Disorders and there are others who achieve an all round
development of a calm, stress- free mind and a fit body.

(D) Some are particularly inspired by the spiritual element that yoga provides.

(E) Yoga has been gaining immense popularity due to the short term as well as long- term benefits that it provides.

Which of the following would be the "FOURTH' sentence after rearrangement?
B 2)A 3)C 4D 5E
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12. Which of the following would be the 'SECOND' sentence after rearrangement?
HD 2)B A 4)C 5)E

13.  Which of the following would be the 'LAST (FIFTH)' sentence after rearrangement?
DA 2)C 3)D 4HE 5)B

14.  Which of the following would be the '"FIRST' sentence after rearrangement?
nHC 2)D 3)B 4HE 5A

15.  Which of the following would be the '"THIRD' sentence after rearrangement?
B 2)C 3)A 4HE 5)D

Directions (Q. 16-20): In the following passage there are blanks, each of which has been numbered. The numbers are
printed below the passage and against each five words are suggested one of which fits the blank appropriately. Find out the
appropriate words.

The newspaper of today is a huge financial undertaking with the same outlook as any other limited company. The
editorial staff have to make circulation, and if they do not they will soon be supplanted by those who can. Their independence
therefore suffers a grave limitation. It is further (16) by the fact that a newspaper is as much an advertising medium as a vehicle
for (17). It is said that the (18) which the public pays for its newspaper covers only one-third of the (19) of production, the
other two-thirds is accounted (20) by advertisement revenue.

16. 1) destroyed 2) deepened 3) curtailed 4) failed 5) aggravated
17. 1) news 2) epidemics 3) training 4) business 5) patients

18.  1)value 2)tax 3) price 4) cost 5) fee

19. 1) expenses 2)sale 3) amount 4) price 5) cost

20. 1)into 2)in 3) from 4) for 5) with

Directions (Q. 21-30): Read the passage carefully and answer the questions given below it.

Education is perhaps the most vital requirement for inclusive growth, empowering individuals and society, opening up
opportunities and promoting true public participation in the development process. It is an important factor that fuels both
social change and economic growth.

India is actively pushing forward with its agenda for revamping and restructuring education in the country. Thanks to
schemes like the Sarva Shiksha Abhiyan and Midday Meal Schemes, enrolment rates in schools have gone up, as have the
number of schools. Right to Education is now a Fundamental Right for all children in the age group of 6 to 14 years. In simple
words, it means that the Government will be responsible for providing education to every child up to eighth standard free of
cost, irrespective of class and gender. It has, thus, paved the way for building a strong, literate and empowered society in this
country.

However, the realisation of this objective is not going to be very easy—not when the school system in the country,
especially the schools in rural areas, continues to be plagued by problems of poor infrastructure, shortage of teachers, their
lack of training and motivation, besides poverty and livelihood issues that are responsible for the huge drop-out rates. It is
estimated that there is a shortage of nearly five lakh teachers, while about three lakh of them are untrained at the elementary
school stage. Over 53 per cent of schools have a student-teacher ratio much poorer than the 1:30 as prescribed under the Act.
About 46 per cent schools do not have toilets for girls, which is another reason why parents do not send girl children to
schools.

However, if our track records in literacy is an indication, we can be quite hopeful of achieving the target of providing
school education to all our children. A 65 per cent literacy rate in 2001 from a mere 14 per cent in 1947 is a record established
with a lot of vision and hard work—a record we can be justifiably proud of. India’s commitment to provide compulsory
education to nearly 22 crore children between the age of 6 and 14 is evident in schemes like those providing rural children
with stipends, free uniforms and text books, mid-day meals and special attention to education of the girl child. While issues
of equity, quality and access remain areas of concern, particularly in rural schools, rapid efforts are being made to address
these effectively and in a sustained manner.

By enacting the Right to Education, India now joins a select few countries in the world where education is a Fundamental
Right. Education is the surest route to development; it will transform the whole society and the gains of such a development
will be inclusive and widespread.
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21.  According to the passage, the term ‘Inclusive Growth’ refers to
1) True public participation in the development process
2) Opening up of opportunities
3) Economic growth coupled with educational development
4) Social change with economic growth
5) None of these
22.  What has triggered the increase in enrolment rate in schools, according to the passage?
1) Economic growth
2) Poverty eradication programmes
3) Schemes like ‘Sarva Shiksha Abhiyan’and ‘Midday Meal Schemes’
4) All the above
5) None of these
23.  “Right to Education is now a Fundament Right for all children in the age group of 6 to 14 years.” It means
1) All the parents/guardians of children of the said age group will have to get their children enrolled in schools.
2) All the children of 6-14 years will compulsorily get education.
3) All the children referred to will have to enrol themselves in Govt schools.
4) Now, it is the responsibility of the Govt to ensure that each and every child of the concerned age group is provided
education at least up to class VIII free of cost.
5) None of these
24.  Consider the following statements:
1) The educational institutions in India severely lack quality teachers.
2) The objective of education to all is not easy to achieve for our school system is plagued by serious problems like
poor infrastructure and shortage of teachers.
Which of the above two statements are correct?
1)Only 1) is true 2) Only 2) is true 3) Both are true 4) Both are not related to the passage
5) None of these
25. Whatis the per cent rate of growth in literacy from 1947 to 2001?
1)65% 2)14% 3)56% 4)51% 5)51%
26.  What, in your view, should be the title of the passage?
1) Right to Education — A road to 100% 2) Education for All — A distant goal
3) Educational Infrastructure — the biggest setback 4) Sarva Shiksha— A prolonged dream
5) None of these
Direction (Q. 27-28): Which of the following is most nearly the SAME in meaning as the word printed in bold as used
in the passage?
27.  Fuel
1) Encourage 2) Force 3) Empower 4) Flourish 5) Drive
28.  Drop-out
1) Leave 2) Go away 3) Discourage 4) Go down 5) Discontinue
Direction (Q. 29-30): Which of the following is most OPPOSITE in meaning of the word printed in bold as used in the
passage?
29.  Pushing forward
1) Going away 2) Going ahead 3) Dancing back 4) Drawing back 5) None of these
30. Motivation
1) Discouragement  2) Induction 3) Derailment 4) Guidance 5) Demotion
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geATrael 11
AT AT

Ade (3. 31-35): Fr=falRaa 9@ s@en 4 ywafarg (7) & I W 31 99 (A a1fRe?
534 434 ? 278 238 106

1)370 2)310 3)260 4)390 5)270
100, 115, 126, 133,136, 2

1)128 2)130 3)135 4121 5)125
265,72, 145,127, 129, 145

1) 189 2)190 3)195 4H172 5)165
95,118, 143,72, 199,230

1) 184 2)150 3)165 4170 5)168
23,27,36,52,2,113

1)82 2)77 3)70 4)90 5)65

fAder (0. 36-40): 379 | 9P Y H, 3R x 3R y B WA I FHBI01 HAiw 1 3iR 1Ry 715 | s x iR y &1
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36.

37.

38.
39.

Hafex>y )afex>y 3)Afax<y
At x<y S)yaRkx=yAx ARy & dra Gag FuiRa 981 & 1 Faar |
L 63x-1104/x +48=0 IL 32y-76,[y +45=0
L x— (45 +643 ) +24 15 =0 Ly -75y+60=0
L 24x2+9x—15=0 IL 30y>—38y+12=0
L 5x+4y=82 IL 4x+5y=80

21 15

B 22)2
L &—(19)32 -0 1L \/5—%:0

X y
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Test 11
Quantitative Aptitude

Directions (Q. 31-35): What value should come in the place of question mark (?) in the following number series?

534 434 ? 278 238 106

1)370 2)310
100, 115,126, 133,136, 2
1)128 2)130
265,72, 145,127,129, 145

1) 189 2)190
95,118,143, 2,199,230
1)184 2)150
23,27,36,52,2,113

1)82 2)77

3)260 4)390 5)270
3)135 4121 5)125
3)195 4H172 5)165
3)165 4170 5)168
3)70 4)90 5)65

Directions (Q. 36 —40): In each of these questions, two equations numbered I and II with variables x and y are given. You
have to solve both the equations to find the value of x and y. Give answer:

ifx>y
4)ifx <y

L 63x—1104/x +48=0

L
L 24x*+9x—-15=0
L S5x+4y=82
21
L \/;_(19)32 ~0
X

2)ifx>y J)ifx<y
5)ifx =yor relationship between x and y cannot be determined.

IL 32y 76,y +45=0

Xz_(4£+6ﬁ),(+245:0 ILy-7/5y+60=0

IL 30y>—38y+12=0

IL 4x+5y=280

15
22)2

Directions (Q. 41-45): Following line-graph shows the ratio of imports to exports of two countries A and B over the

years.

—a— Country A —&— Country B

o—/—7——————F———7—————
2004 2005 2006 2007 2008 2009 2010
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IfS T 2008 F T A D JMATT BT A9 T39.72 HRIS &, Al S 99 H <9 A D fafa &1 |71 = 87
1) 64.6 IS 2) 66.2 IR 3)68.5 RIS 4)69.8 IS 5) 72 TR

IfT 992009 F TH AR 992007 H B P AT sR1aR  dAT TP T 96.4 HRIS B, I 99 2007 § B D IMATT 3R
gy 2009 H A B IMATd b §IF BT AR FAT 87
1)332.28 FRIS 2)334.86 IR 3)336.64 TR 4)338.56 IRIS 5)340.5 BT

IfE g 2006 7 I A DT G AT MR a9 2004 H B BT Gl AT HH: T63.6 BRI 3R T62.8 HRIS B, A1 2006
H AR 20044 B faidi &1 qgat I @1 27?
1)Z161.1 RIS 2)%162.2 TR 3)%163.3 RIS 4)%164.4 TR0 5)%165.5 RIS

a9 2005 ¥ <3 B & M AR 27 & dra &1 37U 2010 H <A S AT AR Fafd & 9= & srurd &1 fda
mfcrerd 87?

1)112.5% 2)137.5% 3)150% 4)72.72% 5)87.5%

i ad 2005 H <2 A D U T H 25% B aleg AR g9 F1a7d 7 50% I B g8, A1 2005 H < A 37T 3R
fatd & = &1 31 U ® I B

1)1.25 2)2 3)2.5 4)0.6 50.5

e (u. 46-50): fRv 71v & auf A 1 Hu[Al A iR B &1 ufdea o
—— S A—8—$UHl B

90 1

80 1
70
60 1

80
70

50 50
40 40 40
30 -
20 A 20
10 -
0 T T T T 1

2007 2008 2009 2010 2011
I 2010 § B A B 3T 3.2 A T, B Al 39 a9 H HUA B B AR 1A PO |
1)14.6 9 g <. 2)10.8 @ g . 3)11.4 919 %. 4) giRa 98 B FHd5) 399 A DIS T

afg 2007 W U B B 3 91 ARI . B A1, $F q9 H HUAl B P FF R BA?
1)78.5 @@ <. 2) 126 @G <. 3)65 A G % 4) giRT 98 B FHd5) 399 A PIS T

Ife 2008 # A1 ‘BUFT B A A B A S Y I FY B AJUIT FAT BIM?

1)15:14 2)14:15 3)3:7 4)7:3 5) s A BIg T
fisel ad & o 4 ad 2011 H $ul B & o9 § g aRad= dra I |

4 4
1)35% 2)40% 3) 147% 4) 287% 5) 579 W BIg e
afd 2008 # HUT A BT A9 35 ARG %, & al 2008 H HUN A &I I R ERA?
1) 50 &9 <. 2) 150 @G . 3) 105 g . 4)70 9GS 5) 3TH | BIg T

64 I x 48 FHI x 44 [ T dTel US I ARATHR Hgd Bl fUaaras, 16 A1 A drell MATHR el 9418 Sl
B | Mt & e s B |

1)56 2)68 3)60 4)63 5)66

4 %Y IR 3 AfEersi W, 3 9ai B Uep QAT 99718 O € 59 U T STl —a7e UBRI | I Sl [l &,
5 &7 9 B9 P ARker Wi 8°
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Ifthe value ofimports of Country A in the year 2008 is ¥39.72 crore, what is the value of exports of Country A in that year?
1) 64.6 crore 2) 66.2 crore 3)68.5 crore 4) 69.8 crore 5) 72 crore

Ifthe exports of Country A in the year 2009 and the exports of Country B in the year 2007 are equal and they are 96.4 crore
each, what is the difference between the imports of B in the year 2007 and the import of A in the year 20097
1)332.28 crore 2)334.86 crore 3)336.64 crore 4)%38.56 crore 5)340.5 crore

Ifthe total imports of Country A in the year 2006 and the total imports of B in the year 2004 are 63.6 crore and ¥62.8 crore
respectively, what is the sum of exports of A in 2006 and exports of B in 2004?
1)X161.1 crore 2)%162.2 crore 3)%163.3 crore 4)%164.4 crore 5)%165.5 crore

The ratio of imports to exports of Country B in the year 2005 is what percentage of the ratio of imports to exports of
CountryAin 2010?
1)112.5% 2)137.5% 3) 150% 4)72.72% 5)87.5%

If, for Country A, in the year 2005, the import is increased by 25% and the export is decreased by 50%, what will be the
new ratio of import to export of Country A in 2005?
1)1.25 2)2 3)2.5 4)0.6 5)0.5

Directions (Q. 46-50): The profit % of two companies A and B given in several years.

—«e— Company A —a— Company B

90 -
80 - 80

70 - 70
60 - 0 60
50 + Q 50

40 40 40

30
20 A 20
10

2007 2008 2009 2010 2011

Ifthe income of company A in 2010 is Rs 3.2 lakh then find the income of company B in that year.
1) Rs 14.6 lakh 2) Rs 10.8 lakh 3)Rs 11.41lakh 4) Can’t be determined 5) None of these

Ifthe income of company B in 2007 is Rs 91 lakh then what will be the expenditure of the company B in that year?
1) Rs 78.5 lakh 2) Rs 126 lakh 3) Rs 65 lakh 4) Can’t be determined 5) None of these

Ifthe income of both the companies are same in 2008 then what will be the ratio of their expenditure in the same year?
1)15:14 2)14:15 3)3:7 4)7:3 5) None of these

Find the percentage change in profit of company B in 2011 from the previous year?
4 4
1)35% 2)40% 3) 147% 4) 287% 5) None of these

Ifthe profit of company A in 2008 is Rs 35 lakh then what will be the income of company A in 2008?
1) Rs 50 lakh 2) Rs 150 lakh 3) Rs 105 lakh 4) Rs 70 lakh 5) None of these

A solid rectangular box of dimensions 64 cm % 48 cm % 44 cm is melted to make spherical balls of diameter of 16 cm each.
Find the number of balls.

1)56 2)68 3)60 4)63 5)66

Out of 4 men and 3 women, a committee of 3 is to be formed. In how many different ways can it be done if at least one
woman to be included?

1)37 2)33 3)31 4)39 5)28
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1)37 2)33 3)31 4)39 5)28

P g9 Thaly TS Bl &% | 20 981 § W P A9 A1 8 W11 2 | g fba a6l § 27 A1 8 Sm?
1) 60 a§ 2) 62 @ 3) 64 a8 4)56 a4 5)58 @
T st & A 2000 B R SHP qf BT AR 512000 B | ST 6T ST BTG |

1)1228 2)1118 3)1182 4)1218 5)1128

P, Q 3R R f&¥l &1 &I A 16, 24 3R 48 AT § FAAG PR Ad © | PR R BRI &A1 Y IR © 3R Q UH
qg S9H A & orar g1 e R a9« 89 9 2 9 ugdl BIg <1 &, A1 di fhaw fe=i # | gme?
)8R 2)18 R 3)9 4)12 R 5)15f4

A, YU 3R A6 A 4: 6 : 9 & JJUId H AHERT H Yol BT (99 P € | Q99 & 3 H I ¥ BT U
8:18:5 % @ S7a I% & 3/@fd &1 rgurd S I |

1)18:27:5 2)18:25:5 3)19:27:5 4)18:27:7 5)18:26:7
Th FHAGYS B HATs A PING radT &ame 88 i ik uRHma 88 #1 & |
2#@ 2)4 % 3)8# 45 5 6%

fAder (9. 58-62): A=fafad gzl 4 yeafarg (?) @ WM w® T 91 31 FfRe?

319.98
1450 1 140.01% + 1250 P1 359.99% =21 —— %

1) 16425 2)16235 3)16225 4)16525 5)16325
359050 +3/7 = 414640

13 2)7 3)6 4)8 5)4

8 o
638. 987 @1 565 70 +1300.01 T 444.99%=? + 148.52

1) 6500 2)6000 3)6200 4)5000 5)5800
255031439 %+ (111)*=? —439.98

1)21290 2)27450 3)28200 4)23980 5)22400
14.95x121.01 x212.40x 159.85=7x14.99 x 211.94

1) 19360 2)19460 3)19120 4) 18860 5) 18360

U bodholed H FW Il B b 6 Fell &1 sl 55 5 AR Y I R 99 Goll Q] © [ §9 awamsi 26, 36,
3R 46 BT T A 52, 48, 50 & foram AT | WEY fAd S B |
1)42 2)45 3)46 4)48 5)44

TP GHMGR WOl B 4o ITb HIG A 25% 318 3ffchd Rl © | AN H dfg Bl & RO 98 AR o7 H 25%
@1 afg Al 8| g8 o ™ Ui $Rar 87
1)56.25% 2)54.15% 3)52.35% 4)62.15% 5)58.25%

R T IR WR BT A 35% 3P b BN & <lfbe qba YA WR 30% &I B <l § | e 98 9% I 4725
B A B, Al 9 P B G DI |
1) 4500 2)% 4000 3)% 5000 4)% 5500 5)% 6000
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A sum of money triples itself at compound rate of interest in 20 years. In how many years it will be become twenty-seven
times?
1) 60 years 2) 62 years 3) 64 years 4) 56 years 5) 58 years

The sum of two numbers is 2000 and difference of their squares is 512000. Find the greatest number.
1)1228 2)1118 3)1182 4)1218 5)1128

P, Q and R can complete the piece of work in 16, 24 and 48 days respectively. Pand R started working and Q joined them
after one day. If R left 4 days before completion of the work, in how many days the work finished?

1) 8 days 2) 18 days 3) 9 days 4) 12 days 5) 15 days

Anil, Bhusan and Charu entered into a partnership with the capital in the ratio of 4 : 6 : 9. If at the end of the year the ratio
of their profitis 8 : 18 : 5, find ratio of period of their investment.

1)18:27:5 2)18:25:5 3)19:27:5 4)18:27:7 5)18:26:7

Find the altitude of a rhombus whose area is 88 m? and perimeter is 88m.
1)2m 2)4m 3)8m 4)5m 5)6m

Directions (Q. 58—62): What approximate value should come in the place of question mark (?) in the following
questions?

31
140.01% of 1450+ 359.99% of 1250 =

% of ?
1) 16425 2)16235 3)16225 4)16525 5)16325
59050 + 37 = 414640
1)3 2)7 3)6 4)8 5)4

8 0,
565 Yo of 638. 987 +444.99 % of 1300.01=2 + 148.52

1)6500 2)6000 3)6200 4)5000 5)5800
439 %0f2550+ (1112 =2 —439.98

1)21290 2)27450 3)28200 4)23980 5)22400
14.95 x 121.01 x 212.40 x 159.85=7x 14.99 x 211.94

1)19360 2) 19460 3)19120 4)18860 5)18360

In a calculation Rishi found that the average of 6 numbers is 55 and at the time of rechecking Pooja noticed the some
numbers 26, 36, 46 is wrongly taken as 52, 48, 50. Find the correct average.
1)42 2)45 3)46 4)48 5)44

A shopkeeper marks the price of table 25% above the cost price. Due to increase in demand be again increases the price
by 25%. What profit did he get?

1)56.25% 2)54.15% 3)52.35% 4)62.15% 5)58.25%

Renu marks her good 35% above the cost price but allows 30% discount for cash payment. If she sells the article for I
4725. Find cost price of article.

1)%4500 2)%4000 3)X 5000 4)% 5500 5)% 6000

11
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UeTgent 11
difebes &yt

e Af¥Ed g W #, 'COIN' &1 []0 # A @ a1 a1 2 &fik 'RATED' &1 $ © @ % ? @ f&an Siar g | Sl a2
# 'CONDITIONER' &1 &3 % a1 oirdn 87

1) ©0 A@% @ ©0 ?2# 2)%S$OA@O@ SO0 # OO A2H@HO A%S

4) fgiRa =8 fe 1 d&an| 5) T | BIS T

afe a7 &1 3rf 1T B, 77 &1 31d FF BT YD B, GF & UG Bl 3 guf g 3R guf &1 i Fige w, a1 g e
U IRd T
1) ut 2)fea 3)3@ 4) g H1 GBI 5) T | BIS T

ke (w. 92-94): F=fafaa sFaRt &1 wFYds st BT @ik R Ry 1w geei & SR A
37692439467231925879586329

Ife IwYad aRT A |1 fqwH o 8T AU WY, A1 9 aRe H SRl AR 9§ ared fEfaiad § | $IF A1 sm?

1)4 2)6 3)2 4)8 5) T4 | BIS T
SR aReql H q ¥ dIGEd R B 9 Aradl e § | @I A g?

1)9 2)4 3)3 4)2 5) T | BIS T
SR Ryl H U o+ 98, R 3 u&% & a8 T JqH IA9od AT 8?

DK 2) = 3) Th 4) =R 5)®:

fAde (9. 71-75): v 9 § 9 IR gY dF $F Ay U § 1 S5 g @1 sy 1 eiR 1 i e E 1 Ry

MY FHAAI P GE AFA Y I8 I AT b pra-A1/A frad AR wu @ ww 3/E7 sav A

71.

72.

73.

74.

75.

1) 3f Faer frspd 1 9 2|

2) aft daar fspd 11 91 2

3) af a1 a1 fased 1 srerar fsed 11 99 2|
4) afe 9 @ fspd 1 ok 71 & fpdd 11 91 2
5) afe fospd 1 iR fsepd 11 <41 & w7 2|

B H>L, L=G G=M
fA=py - L H>M

IL. H>G
B A=J, J>R, P<R
fA=py : L J>P

IL. P=A
B K>N, N>U, U=M
fA=py - L N=M

IL N>M
F E>I, I=K, K<J
fAepy - L K>E

IL J>1
FUA B=S, S<D, U=xD
fA=py : L S<U

I. D>B

fAde (. 76-80): =1 yea i3 & & a1 W snunlRa &
(i) fo<dl et 3 *e BT S, T, U, V, W, X, YR ZE | S8 & 9 ST 3R HiA QIH1 BI 16T B & AT SH

I 1 I%hd Ued & | S8 I UAD BT 3l ol © |

12
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Test 111
Reasoning Ability

In a certain code language, 'COIN'is coded as []6 # A and 'RATED'is coded as $ © @ % ?. How would 'CONDITIONER'
be coded in that code?

HDOCH A@%@©CQ ?# D)%$0A@O@$Oo# O 0 A?#@#0 A%S

4) Cannot be determined 5) None of these

If day means night, night means sunlight, sunlight means rain and rain means mud. We get vitamin D from-
1) Rain 2) Day 3) Night 4) Sunlight 5) None of these

Directions (Q. 92-94): Study the following information carefully and answer the questions given below:
37692439467231925879586329

Ifall the odd digits are deleted from the above arrangement which of the following will be eighth from the right end in the
arrangement?
14 2)6 3)2 48 5) None of these

Which of the following is seventh to the left of the fourteenth letter from left in the above arrangement?
D9 2)4 3)3 4)2 5) None of these

How many such 9s are there in the above arrangement, each of which is immediately followed by an even prime number?
1) Two 2) Three 3)One 4) Four 5)Six

Directions (Q. 71-75): In each question, three statements showing relationships have been given, which are followed

by two conclusions I and I1. Assuming that the given statements are true, find out which conclusion(s) is/are definitely true.
Give answer

71.

72.

73.

74.

75.

1) if only conclusion I is true.

2) if only conclusion I is true.

3) if either conclusion I or II is true.

4) ifneither conclusion I nor II is true.
5) if both conclusions I and II are true.

Statements: H>L, L=G G>=M
Conclusions: L H>M
IL. H>G

Statements: A<]J, J>R, P<R
Conclusions: L J>P
IL P=A

Statements: K>N, N>U, U<M
Conclusions: L N=M
IL N>M

Statements: E>1, I=K, K<J
Conclusions: L K>E
IL J>1

Statements: B=S, S<D, U=D
Conclusions: L S<U
IL. D>B

Directions (Q. 76-80): Following questions are based on the information given below.

(1) S, T, U, V,W, X, Y and Z are eight students in the class. Three of them study English and Commerce each and two of them

study Sanskrit. Each one of them has a different weight.

13
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(ii) I YD T qTel BIF TRd BT LTI &1 Bl & AAT AIH HH doT aTell BT S BT AR &l Bl
gl

(i) X, SR VI 91 B A ZIR T I Eoh! | O T AfAD o1 el W SHI SIISH &7 1e3 781 val 8,
T THANI 1Y, VY Bepl olfbd SH 9N B |
(iv) Z 3 ¥ e B SN V& A1 BT BT FETI Bl © |

(v) Y T o1 3TN T € A¥bd BT AT BHRAT 8 | T Db Pl eI &1 Hrl 8 |
76, HERI HRI BIF 87

)Z 2)U 3T 4 W 5) 3T | B T8l
77. 9 H | B VA Eodbl ®7

1)Z 2)Y 3)X 4T 5)3H 9 B T8
78, 9 H 1T SIST BT BT U HRAT B2

1)ZX 2) WX 3)WS 4)YZ 5) FAuiRd & &= Aad
79. Bl ®I 751 H | DIT—AT TE FUTI BT eI BT 27

1) USW 2)UTX 3)UTS 4)UWY 5) 3T | B T8l
80. W= # 3 fu fawy &1 w781 a1 87

1) e 2) 3ol 3) BT 4) IS 3R DI SIHI5) SHH A BIg Al

fder (9. 81-85): =1 Qa1 &1 AEYTIYd® emE ST iR weHl & IR A
P,Q,R,S,T,U, VIR W & aadR Al & fiId &g &1 3R 48 v 98d & | P,Q &I UL & afd V& =781 | S,
TH TSI AR RS G T 9SAT 2 Q, TAT R T USIA WS 21 P, USD I A 1T 2 |

8. =1 & ¥ b g™ ¥ ORI A Ugel Afdd & gid ard §odl &7

)TR 2)UV 3)WP 4)PR 5)3H |9 B T8
82. Afd VIIRR & Rl &1 ovewR gga faan siren g a1 71 § 9 si9—a1 we Afaa wu 9 v 8m?

1)U,R® g R I R T | 2)S,VH USRI B |

3)W,R® S | TIRT & | 4) VIR W UG- & Af-Tae TSl 2 |

5)STH | BT e
83. URMRPS dra # fhaw ol &, 19 U amHmEd 041 &1 SIr?

1)< 2)a 3)TH 4)yImar 2313 5)3H 9 B T8
8. Ife Qaw & fudd gs fbu gu g, @ /1 § | dIF—A1 Q& IRi A IR BI?

1V 2)T 3)S 4)W 5)3TH 9 B T8
85. P I XATH I BI, AT U, VIIR W & AT BT HHI: Q, R3S A RER g far Sirar 87

1)U® gRd &R

2)W o gd sl

3)R® SR I A

4)Q® I | IRIT

5)STH | BT e

w1 (9. 86-90): = 9w wed § §iF ®uFl & ae < Awpd 1 3R 11 Ry v €)1 3mue) Ry 71v weFl & w91
T Wl & 9 wdwa @l ¥ A udla 2@ § &R fv fvfa ovAn @ b R s fAspd 3 M peFl &1 qawETa
9 A AFARY HAT & W & [dea 9 g f 81 SR AR

1) afe freapy 1 SFRoT e 8

2) gfe frspy 11 SFFIRVT BRAT &

3) afe a1 a1 e 1 a1 by 11 SIgaRYT HRel &

14
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(i1) The heaviest does not study Sanskrit and the lightest does not study English.

(iii) X is heavier than S and V, but lighter than Z and T. W, who does not study English, is heavier than T and is the second

heaviest. Y is lighter than V but heavier than S.

76.

71.

78.

79.

&0.

(iv) Z, who is fourth from the top, studies Commerce along with V.

(v) Y does not study either English or Sanskrit. T does not study Sanskrit.
Who is the heaviest?

Nz 2)U )T 4H W 5) None of these
Who among the following is lighter than V?

HzZ 2)Y 3)HX 4HT 5) None of these
Which of the following pairs studies Sanskrit?

1)ZX 2) WX 3) WS

4HYZ 5) Cannot be deteremined

Which of the following groups of students studies English?

1) USW 2)UTX 3)UTS 4)UWY 5) None of these
Which of the following subjects does W not study?

1) Sanskrit 2) English 3) Commerce

4) Both English and Commerce 5) None of these

Directions (Q. 81-85): Study the following information carefully to answer these questions.
P,Q,R, S, T, U, Vand W are sitting around a circle facing the centre. P is the neighbour of Q, but not V. S is the neighbour

of T and is sitting on the immediate right of R. W is not the neighbour of Q, T or R. P is third to the right of U.

81.

82.

&3.

&5.

Which of the following pairs has the second person sitting on the immediate left of the first?
DTR 2)UV 3)WP 4)PR 5) None of these

If V and R interchange their positions, which ofthe following statements will be definitely true?
1) Uis on the immediate right of R.

2) S is the neighbour of V.

3) Wis 3rd to the right of R.

4) V and W are immediate neighbours of each other.

5) None of these

How many people are there between U and P, when counted anticlockwise from U?

1) Three 2) Two 3) One 4) Either2 or 3 5) None of these
If Q faces opposite the centre, which of the following will be third to the left of Q?

Hv )T 3)S 4H W 5) None of these

What would be the position of P, if U, V and W interchange their positions with Q, R, and S respectively?
1) On the immediate right of U

2) On the immediate right of W

3) Second to the right of R

4) Third to the left of Q

5) None of these

Directions (Q. 86-90): In each question below are three statements followed by two conclusions numbered I and I1. You

have to take the given statements to be true even if they seem to be at variance with commonly known facts and then decide
which of the given conclusions logically follows from the given statements, disregarding commonly known facts Give
answer.

1) If only conclusion I follows

2) If only conclusion II follows

3) If either conclusion I or conclusion II follows
4) If neither conclusion I nor conclusion II follows
5) If both conclusions I and II follow

15
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4) gfe 7 @1 F=pd 1 3R 7 & by 11 gARYT Rl &
5) afe forepy 18R fsp 11 Q141 SIgARYT PR &

86. WA : O T B T |
) T T E |
P HU AG TE B
fAepy L 9 I%79 & ¢ |
II. B a9/ & Y 81 P GHIaT ¢ |
(87-88):
FU it F51 B 2
H1E FAT AET TE B
T AHT B F |
87. faspd : L 9 351 & derd 81 B |HTE B |
IL &+ R & Fad B &) G91aT B |
88. s : L9 oo afe 9 g1 &, @1 9 391 0 & |
IL 1$ 7S |1 78 2
(89-90):
HOA - FB IR aTH E |
T 2R el B
T grefl SR B
89. s : I §5 IR AR T8 £ |
IL &+ SRR & 919 B9 @) §ia © |
9. f=pd : L 9 a8 ) ) SR T80 81 |3 B |

IL &1s 1 919 S Uob 9N &, 98 b SN 2 |

fAder (9. 91-93): f=fafaa Jamesi &1 wEauriYds siegga R 3R Ry 1Y gl & SR < :
B AT A,B,C,D,EdF 9 U&h & § A<E § AHaR ¥ AR 6 B I {HaT1 | 96 I TS 1 Te—Tel T U&l

TR IIAT-3T 21 BT Sarg= fban |

Y ug — yaud, fIfie, sfAer), de-Rra, widers 3R 9P ydeud @ 9| F 3 Uh dh-3d & wU § Uge fod Sars+

fPar| B <1 U widerd & WU H SA1sA [BA1 oifdbd 7 A1 §HaR 9 & YHAR B | D 7 TP ANPR & WU H d8WIaR Pl
Sare o | fotftes o ggaR &1 duel Sared @I | E 9 Us U9ed & WU H HIdR Bl Saigd a1 | A 7 9@ ydgs & W
H wargA |

91.

92.

93.

94.

95.

16

fFa gUaR B HU SATSA BI?

HC 2)B 3)B 3@ C 4) greT At 5) T4 | BIS T
P Bl SATgA BRA Tl A AT DI 17

)E 2)F 3)A 4)B 5) 3T A B G
@l yegs o1 FrefaRad 4 9 fed fiF Sarga fear?

1) TR 2) gEfrar 3) wfFER 4) YEHAR 5) T ¥ BIS TEl
¥res BAROMETER # 3Rl & U fas g & e da Ia9 & 1R € e 98 §ra ol aofaren # 2 82
1) v& 1 =& 2) U&H 3)a 4= 5)d | S1fd®w

f sres PHOTOGRAPHY @& 3Rl &I 39 UdR aRed fdhar S & sl gofaren # favm i W e ara
T Rl I JuiATe wH # FaRerd fear S 3R 39 915 99 3MeRi & (ST TS JuiATer § 99 A WM
g) quinren wH § eaRerd f&ar o9, @ S’ BR 9 B3 WM W $IF-AT R 8[?

HH 2)G 3)R 4Y 5) T4 | PIS T
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86. Statements: Some glasses are cups.
All spoons are glasses.
No cup is tea.
Conclusion: I. All spoons are cups.
I1. Some spoons being cups is a possibility.
(87-88):
Statements:  All tables are chairs.
No chair is a sofa.
All sofas are pens.
87.  Conclusion: I. All tables being pens is a possibility.
I1. All chairs being pens is a possibility.
88. Conclusion: I. All pens ifthey are chairs are also table.
II. No table is a sofa.
(89-90):
Statements: Some lions are tigers.
All lions are elephants.
All elephants are animals.
89.  Conclusion: I. Some lions are not animals.
I1. All elephants being tigers is a possibility.
90. Conclusion: I. All tigers can never be animals.

II. Any tigers which is a lion is a animal.

Directions (Q. 91-93): Study the following information carefully and answer the given questions:
Six person A, B, C, D, E and F got job with a firm in a week from Monday to Saturday. Each of them joined for different

posts on different days.

The posts were of — Manager, Clerk, Officer, Technician, Supervisor and Sales Manager. F joined as a Technician on the

first day. B joined as a Supervisor but neither on Wednesday nor Friday. D joined as a officer on Thursday. Clerk joined the firm
on Wednesday. E joined as a Manager on Tuesday. A joined as a Sales Manager.

91.

92.

93.

94.

95.

Who joined the firm on Wednesday?
nHC 2)B 3)BorC 4) Data inadequate 5) None of these

Who was the last person to join the firm?
HE 2)F A 4B 5) None of these

On which of the following days did the Sales Manager join?
1) Tuesday 2) Thursday 3) Saturday 4) Friday 5) None of these

How many such pairs of letters are there in the word BAROMETER which have as many letters between them as in
the English alphabet?
1)Nil 2) One 3) Two 4) Three 5) More than three

If the letters of the word PHOTOGRAPHY are arranged in such a way that all the letters which occupy odd positions
in the English alphabet are arranged alphabetically followed by all the remaining letters (which occupy even positions
in the English alphabet) in alphabetical order, then which letter will occupy sixth position from the right end?

HH 2)G 3)R 4HhY 5) None of these
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fAdw ¥. 96-100):F=fefaa SeE™ &1 eaFgd® sreaaE Hifsie sk R Ry U gl & Swr &
P,Q,R,S,T,U, VR WTH TadHR 7S & 1 &% &l 3R §& I 90d ¢ | TS BT e —Ae UL 8 9 &
Ay, Aow, IMSHISY, THAHIY, IhId, ATSYUH, RS Foll-RR 3R UrIele, offd STl 8l 6 9 34l &9 4 & |
Q, W dfct & qRI 4 GERT 8 | W o Tfet 51 @l Teb UBRAIY & 3R 7 € U X SONTIR & | DIg W) Afeet Q bl
A e TSR T2 8 | SH YA UD IR I T W TR 3R ICWAS JRd 91 930 & | UBRER SR g Sl Val
g8 8| U, W Ufd &l Af~Tehe TSRAl 781 8 | S B g3l WY & | dael U Afdd PAR U d1d o1 & | W BT 918 S 370!
7 & R 1 93T ¥ Sl U QMY B | P,V bl AT B | Baet U afdd W 71 SR T 99 # 931 2 | TS99 Afad
@ gId g1 a1 B o Hgw 2 |
WRV® d1F H ddd U Afdd 931 8 | VI Al & I ¥ IR & Sl U—IeIE & | V,R @1 A1 § 3R Tdl U
Af~Tehe TSRT TE B |
9. T/ 5 | B S PIgAT 87
DQ 2)R HT 4V SYW
97. QIR G B MIR R F=fRad uig # | IR fHA-7-f50 yeR § 99 2 iR 39 U6R 9 Uh g &l i
A 2| 1 | 9 3T 39 wE § e T8 '?

U 2)R 3)T 4HW 5V
98. =1 # 9 fhas dra S8+ aren afdd U9 A gavd 27
1) CA 3IRFCA 2)IAS3IIRCA 3) CS RICWA
4) FgiRa =& &= Fad 5)3H 9 B T8
9. 1§ 9§ P9 Uele B?
1) FaiRa &1 &= |J6d )R A 3)R
4)P 5)3H | B T8
100. P &1 D UTSHT & GaH H AT 447 27
1) qed 9 2) TR | AT 3) qRd &R
4) TR A T 5) 9 9 e

18
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Directions (Q. 91-100): Study the following information carefully and answer the questions given below:

P,Q,R,S, T, U, Vand W are sitting around a circular table facing the centre. Each has different professions — CA, CS,
ICWA, FCA, Lawyer, IAS, Computer Engineer and Pilot — but not necessarily in the same order.

Q sits second to the left of W’s husband, who is neither an FCA nor a Computer Engineer. No female is an immediate
neighbour of Q. S’s daughter sits second to the right of U and on the immediate left of ICWA. U, who is sister of V, is a Computer
Engineer. U is not an immediate neighbour of W’s husband. S’s daughter isa CA. Only one person is sitting between P and U.
W’s brother S sits on the immediate left of his mother, who is an IAS. P is the father of V. Only one person sits between W’s
mother and T. T sits on the immediate right of the person who is a CS.

Only one person sits between W and V. V sits second to the right of the person who is a pilot. V is mother of R and not
an immediate neighbour of T.

96. Who amongst the following is S’s daughter?
DQ 2)R )T
Y SYW

97.  Four of the following five are alike in a certain way based on the given information and so form a group. Which is the one
that does not belong to that group?

HU 2)R HT
4H W 5V
98.  The person who is a Lawyer is sitting between which of the following persons?
1) CA and FCA 2)IAS and CA 3)CS and ICWA
4) Can’t be determined 5) None of these
99.  Who among the following is a Pilot?
1) Can’t be determined 2) Mother of R 3)R
4)P 5) None of these
100. What is the position of P with respect to his grandson?
1) Immediate left 2) Third to the right 3) Immediate right
4) Second to the right 5) Fourth to the left
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IBPSPO-PT-B-010

2 2.3 3.2 4.3

6. 3; Add ‘of” after ‘accused’

7.

5; No error

8. 4; Replace ‘is’ with ‘are’
9. 3; Add ‘be’ after ‘and’
10. 4; Replace ‘from’ with ‘since’
(16-20): EADBC

1.1 12. 3 13.2 14. 4 15.5
16. 3 17.1 18. 3 19.5 20. 4
21. 1 22.3 23. 4 24. 2 25. 4
26. 1 27. 1 28. 5 29. 4 30. 1
31. 1; The series is
232+5=7534
212-7 =434
192+ 9 =370
172 - 11 =278
152+ 13 =238
112-15=106
32. 3; The series is :
8 x 12.5 =100, 10x11.5=115
12 x 10.5=126, 14x9.5=133
16 x 8.5 =136, 18 x7.5=135
33.1; The series is :

6+ 7 =216+ 49 = 265
5+ 82 =125+ 64 = 189
4+97 =64+ 81 = 145
384102 =27 + 100 = 127
2+ 112=8+121 =129
1P+ 122 = 1 +144 = 145

34. 4; The series is

36.

10 x 11 -15=095
11 x12-14=118
12 x13-13 =143
13 x 14 -12=170
14 x15-11=199
15 x16—-10=230

. 2; The series is :

23 27 36 52 77 113

+22 +32 +42 +52 I 62

S=T7
3; L 63x—54/x —564/x +48=0

— (9&78)(7\/;76)=0

37.2;

40.

IL 32y - 36+/y —40.Jy +45=0

= 4y -5)(8Jy-9) =0

59
= y=z,§

_ 2581
=Y~ 16 64

Soy>xor x<y
L x*- 4/5x —63x+24/15=0
- (x76\/§)(x74\/§):0

= x= 63, 45

Ly - 3/5y— 4/5y+60=0
= (y-3V5)(y-45) =0
= y=3J5, 45

X2y

24x% — 15x +24x — 15=0
= (8x-35)(3x +3)=0

3

T

IL 30y* — 20y — 18y + 12=0
= (By-3)(6y-4)=0

= X = -1

= V=

>

W | W
| &

.. No relationship between x and y exists.

25x +20y =410
16x + 20y =320

9 x = 90
x =10
_82—5022_8
4 4
x>y
1 21
L. x2 —-192=0
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7 21
= x2=192

= x=19"= 6859
—42 =
2o
= y?-= 222
= y=1223=10648

SLy>x oor x<y

(C] =0.6

L
E

= ﬂ =66.2 crore
0.6

Ii:()j
Ea

oo Ia =0.5%x96.4 =48.2 crore

I_B:().g
Eg

oo Ig =0.9%x96.4=86.76 crore
.. Diff = 86.76 — 48.2 = 38.56 crore

Ii:oqs,
A

Ea :I—A =84.8 crore
0.75

I =038,

Eg

Ep :I—B :ﬁ =78.5 crore
0.8 0.8

o Sum = 84.8 + 78.5 = 163.3 crore

I8 _gss, 1A g4
Ep Ea

.. Reqd % = 055
0.4

x100=137.5%

_:olg:i

| —
W

L=d+2x4=5
100

E1:5i5x5—0:2.5
100
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46. 4

47.3;

48.2

51. 4;

52.3;

53.1;

54. 5;

56. 1;

.. Ratio = I—l :i =20
Ei 25
x, = 2100 _ (o 1kh
140
49.2 50. 3
Required number of balls = — o 4844 _ o4

37 2 2 2

Required number of ways

= (2 men and 1 woman) or (1 man and 2 women) or 3
women = *C, x °C, +*C, x °C, + °C,

! ! ! !
A A 8124131
21x21 21 31 2

Y
Pl[1+—| =3P
100

3

= {(HISOJZO} =[3]

r 20x3
1+— | =27
:( 100]

*. In 60 years it will become twenty-seven times.
Let the two number be x and y.

ox+y=2000 .. ()
and x* — y? = 512000

512000 _
2000

—Sx-y= 256 ... (ii)

Now, solve (i) and (ii), we get
S 2x=2256

x = 1128

andy =872

Let the total number of days taken to complete the work

be x.

X x—-1 x—4
+ + =1
‘16 24 48

3x+2x—-2+x—4 -1

48
= 6x—6=48
= x =9 days

Ratio of period of investment



57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.
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_ Ratioof profits _ 8 18 5 _5:3
Ratio of capital 4 6 9 '
=18:27:5

Side of the Rhombus = % =22m

.. Altitude of Rhombus = % m=4m

140%x1450 360x1250) 100
?= + X ——x8
100 100 320
_203000+450000 «8
320

=2040.625 x 8 = 16325

37 = 414641359049 =11-9=2
: 2=38

? ~ £><639 +ﬂ>< 1300 -148.52
900 100

=363.52 + 5785 — 148.52
= 6148.52 — 148.52
6000

g~ 340x2550 +(111)° +440
100

11220 + 12321 + 440 ~ 23980

. 212x15x121x160
212x15

=19360

26+36+46 52+48+50
Correct average = 55+ -

6

=55+18-25=48
, (25)°
Required profit percentage =2 x 25 + oo

= 50+6.25=56.25%

cp = 4725 x 190,190 = 5000
B 135~ 70
COIN, RATED
Vidvd bl b
O0#A S ©@%?*?
CONDITIONER
AR R A A A A
O00A? #@#O0A%S

68.
69.
70.
71.

72.

73.

74.

(76-80):

1
3;
1
2;

Number = (14 — 7) = 7th from the left = 3

H>L .. (i);L=G..(>i); G > M ... (iii)
Combining all, we get H>L=G > M
Hence, H > M.

This does not lead us to conclusion 1.
And H > G. This is conclusion II.

A< .. (i);J>R .. (i); P<R... (iii)

Combining (ii) and (iii), we get J > P. Hence conclusion I is
true.

But A and P can't be compared from (i), (ii) and (iii). Hence
II is not true.

K>N..();N 2 U... (i), U < M.. (i)

N and M can't be compared from (ii) and (iii). Nor are I and
II exhaustive because they are silent on the possibility N <
M. Hence neither is definitely true.

E>T1..(»4);1=K..(»i); K<1J ... (ii)
Combining (i) and (ii), we get
E>I=KorE>K.

Hence conclusion I (K > E) is not true.
Combining (ii) and (iii), we get
I=K<JorI<lJ.

Hence conclusion II (J > 1) is true.
B=S..(i);S<D... (ii)); U= D ... (iii)
Combining (ii) and (iii), we get

S < D < Uor S <U. Hence conclusion I is true.
Combining (i) and (ii), weget B=S<DorB<D

Hence conclusion II (D > B) is true.

Person Rank ac.cording to Subject
weight

S 8 Sanskrit
T 3 English
U 1 English
\ 6 Commerce
\ 2 Sanskrit
X 5 English
Y 7 Commerce
V4 4 Commerce

The person who is ranked ‘one’ is the heaviest and the one ranked
eighth is the lightest.

76. 2

77.2 178.3 79.2 80. 4



(81-85):

81.5
86. 2;

87.5;

88. 2;

BSC Academy

T
U S
v R
W Q
P
82.2 83.2 84.2 85.3

All spoons are glasses (A) + Some glasses are cups (I) =A+1
= No conclusion. But some possible relation between spoons
and cups.

Hence, some spoons being cups in a possibility. Hence
conclusion I follows. But II does not follow.

All tables are chairs (A) + No chair is a sofa (E)=A+E=E
= No table is a sofa (E) + All sofas are pens =E + A= O* =
Srrepersa'end tdbles — conversion — All table being
pen is a possibility. Hence conclusion I follows.

Also, No chair is sofa (E) + All sofas are pens (A)=E + A=
O* = Some pens are not chair. It means All chair being pen is
a possibility. Hence conclusion II follows. Both conclusion I
and conclusion II follows.

All tables are chairs (A) + No chair is a sofa (E)=A+E=E
= No table is a sofa. Hence conclusion II follows.

But conclusion I does not follow.

(89-90): Some lions are tiger — conversion — Some tigers are lions

89.2
90. 2

(D) + All lions are elephants = I + A = 1 = Some tigers are
elephants. It means All elephants being tiger is a possibility
conclusion II follows.

All lions are elephants (A) + All elephants are animals (A) =
A+ A=A=Alllions are animals.

Some tigers are elephant + All elephant are animal (A) =1+
A =1= Some tigers are animals.

(91-93):

Person Days

Post

F Monday

Technician

Saturday

Supervisor

Thursday

Officer

Clerk

Tuesday

Manager

B
D
C Wednesday
E
A

Friday

Sales Manager

(96-100):

(+) > Male

93.4

(=) > Female

CA

IcwA  TO)
S

(+)

IAS Q

cs
W
)

U Computer

=) (-) engineer

V_ FCA
R
Pilot (+) (5’) ©
La\i-yer
Family Tree
Q
-
v
P& W—S
" QO

96. 3 97.2 98.5 99.3
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